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= 5,000,000 4,000,000 1,000,000
[ia 15,665,765 15,205,644 460, 121
SEXQ 222 Holx=E =HIMA 10,439,472 8,860,772 1,578,700
= 5,000,000 4,000,000 1,000,000
i 5,439,472 4,860,772 578,700
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= 5,000,000 4,000,000 1,000,000
i 4,160,606 3,581,906 578,700
SSSEY HESAS 60,000 60,000 0
101 @124l 7,000 30,000 A 23,000
4 JI2ZtHZ22 s+ 7,000 30,000 223,000
OZ2s&a AME= sX el 7,000,000%14) 7,000 30,000 A 23,000
ANEHI &2 53,000 30,000 23,000
01 A& Hl 53,000 30,000 23,000
OZsaTA e+ 53,000 30,000 23,000
OiSotaT HEASE (2Z2) 1,336,673 1,186,673 150,000
401 Al&HI & 28I 1,336,673 1,186,673 150,000
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03 Al S THHI 10,640 5,796 4,844
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3,039,000,000%0.3501% 10,640 5,796 4,844
Me&s(aot=S0t) 10,185,421 10,304,000 A 118,579
HEHHK = 10,185,421 10,304,000 A 118,579
St AL ELESH HES 0 118,579 A 118,579
701 JIEtSI HEHES 0 118,579 A 118,579
01 JIEtSI HE =3 0 118,579 A 118,579
Odt=SAAEERH =3 0 0 118,579 A 118,579




